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Section A Very Short Answer Type Questions

1. Find the square root fo ( — 5 + 12i)

o Watch Video Solution

2.f z7 = — 1 and 29 = — 4,then find Arg (2122)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_61HAaLYukdk8
https://dl.doubtnut.com/l/_hiKMpPlIknWJ
https://dl.doubtnut.com/l/_y7hHIt3875BF
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3.If z = cisf, then find the value of lx6 + —6}.
T

° Watch Video Solution

4. If the equation > — 15 — m(2z — 8) = 0 has equal roots, find the

value of 'm'.

° Watch Video Solution

5.1f -1,2 and « are the roots of

223 + 22 — Tz — 6 = 0, then find «

o Watch Video Solution

6.If"P; = 42."P5. find n.

° Watch Video Solution



https://dl.doubtnut.com/l/_y7hHIt3875BF
https://dl.doubtnut.com/l/_sk9gVxgFNB9O
https://dl.doubtnut.com/l/_fprMttaDVJOx
https://dl.doubtnut.com/l/_AUH2KqpwB9D1

7.1f 1702t—|—1 = 17C3t_5,ﬁnd t.

o Watch Video Solution

8.Find the number of terms in the expansion of (2z + 3y + z)’

° Watch Video Solution

9. Find the mean from the mean of the following discrete data 6,7,

10,1213,4,12 16

° Watch Video Solution

10. The mean and variance of a binomial distribution are 4 and 3

respectively. Fix the distribution and find P(X > 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_SfIL967Ati3H
https://dl.doubtnut.com/l/_za0NcJVSImgB
https://dl.doubtnut.com/l/_YWA5hSLQP9aY
https://dl.doubtnut.com/l/_LhaNPx8suU0T

Sectio B Short Answer Type Questions

1

— ,showthat4z? —1=0
14 cosf + isinf

Lifz +i1y =

° Watch Video Solution

2.If x is real, prove that — ¥ lies between 1and —.
z2 — 5z + 9 11

° Watch Video Solution

3. If the letters of the word MASTER are permuted in all possible ways
and the words thus formed are arranged in the dictionary order, then

find the rank of the word MASTER.

o Watch Video Solution



https://dl.doubtnut.com/l/_LhaNPx8suU0T
https://dl.doubtnut.com/l/_pNCUH6ELeUHy
https://dl.doubtnut.com/l/_KtNCbVpiDD6p
https://dl.doubtnut.com/l/_JqVlYRHeaiE3
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4. simplify 34C5 + §0(38—’")C4.

o Watch Video Solution

5. Resolve the following into partial fractions.

2X2 + 2z +1
x3 + 2

° Watch Video Solution

6. State and prove addition theorem on probability.

o Watch Video Solution

7. Suppose A and B are independent events with P (A)= 0.6 P (B) = 0.7.
Compute

P(A N B)

[ & S |



https://dl.doubtnut.com/l/_70NOB5cMyWgU
https://dl.doubtnut.com/l/_JbylCmX3i45H
https://dl.doubtnut.com/l/_V10mzjWkzKxk
https://dl.doubtnut.com/l/_QpomLaF7Ouza

[ @ Watch Video Solution ]

8.Suppose A and B are independent events with P (A) =0.6 & P (B) = 0.7
Compute

P(AU B)

° Watch Video Solution

9.Suppose A and B are independent events with P (A) = 0.6 P (B) = 0.7.
Compute

P(B/A)

o Watch Video Solution

10. Suppose A and B are independent events with P (A)= 0.6 P (B) = 0.7.
Compute

P(A°N B°)

| e |


https://dl.doubtnut.com/l/_QpomLaF7Ouza
https://dl.doubtnut.com/l/_AY9lc40Kv2Ju
https://dl.doubtnut.com/l/_CfKVpT0c9wgU
https://dl.doubtnut.com/l/_rMgdSa5pbjTH

| & Watch Video Solution

Section C Long Answer Type Questions

1.If a, B are the roots of the equation 2> — 2z 4+ 4 = 0 then for any

n € N showthat o™ + " = 2"+1cos(%).

o Watch Video Solution

2. Solve the 8z — 36z” — 18z + 81 = 0 equation, given that the

roots of each are in AP.

° Watch Video Solution

3. Prove that : If n is a positive integer and x is any nonzero real

number, then prove that

X X
Co+Cim+Cy.——+Cs. =— +.... +C,. =
0Tl Ty 7y n+1 (n+ 1)z


https://dl.doubtnut.com/l/_rMgdSa5pbjTH
https://dl.doubtnut.com/l/_hO5SjGwMl2lM
https://dl.doubtnut.com/l/_ae7Z6Mx1WK88
https://dl.doubtnut.com/l/_lZiQoa2A9Jg4

o Watch Video Solution

1 1.3 1.3.5
4. If x = —

2
5 " 510 T 5101 T o0 then find 327 + 6.

° Watch Video Solution

5. Find the mean deviation about the median for the following

continuous distribution:

Age  [20-25 [25-30 [36-35 [35-40[40-45 [15-50 [50-55| 55-60
(vears) | | ‘ 4 9.
No.of | 120 1125 | 175 °|'160 | 150,140 *| 100 | 30
workers (£} R O b E:

o View Text Solution

6. Suppose that an, urn B; contains 2 white and.3 black balls and

another urn Bs contains 3 white and 4 black balls. One urn is selected


https://dl.doubtnut.com/l/_lZiQoa2A9Jg4
https://dl.doubtnut.com/l/_zuBcsJwQMLgI
https://dl.doubtnut.com/l/_Us5y40fidLf7
https://dl.doubtnut.com/l/_2JX8lXyld5kF

at random and a ball is drawn from it: If the ball drawn is found black,

find the probability that the urn chosen was B;.

o Watch Video Solution

7.Arandom variable X has the following probability distribution.

X=x [0f1[2]3[4 5] 6] 7 °
P(X=x) | O |k |2k | 2k | 3k [K? [ 2K* | 7K +k.

Find k

o Watch Video Solution

8. Arandom variable X has the following probability distribution.

=

Xx [O0f1]2]3|a|s]| 6| 7

POGxy | O ke [ 2|2k 3k |k | 25¢ | T+K

Find (i) k (i) Mean (iii) P(0 < X < 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_2JX8lXyld5kF
https://dl.doubtnut.com/l/_CgcxXkJh8QDg
https://dl.doubtnut.com/l/_vC0Tse6NjPU6

9. Arandom variable X has the following probability distribution:
X=z PX=n=2)
0 0

k

2k

2k

3k

k2

2k?

TR + k
Find p(0 < = < 5)

N O O W N =

o Watch Video Solution



https://dl.doubtnut.com/l/_vC0Tse6NjPU6
https://dl.doubtnut.com/l/_EQW4QRcToxq7

